EARAROBEEIERT — 2 N— IBISH —F

201853/ 178 (£) 2@ 7H

mﬂﬁ%Sﬁ KEF 4t H5E] B ‘ [XM&] # ‘ (seEmml  — | & (&) 1800M &
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
LS 3 | BfEiE 1:57.3 5-7-2-2 | 40.6 | 84.6 | 1 482 | BRARIA (i)
ll ¢ KIS £ ek =) G | ) HAL-2K-x
L:viNnNygLhTr B:Yon—v1> #"HET7—L4
e 4 3 | BEEEA 1:57.3 1-1-1-1 | 41.1| 84.8 | 4 456 | SRR (i)
il o K 7AROLA T 54.0 ; (2 E) (+2) 7ﬁDﬁ57va757
L:T7ROXLTEL B:T7ROVY I XF @A
. R — . —7_a_| KTTIEE (/)
3l7l13| stz H—7 it 3 o (13517/2% 9-7-8-6 | 40.6| 79.8 | 8 gs) R
Win-—erYy— BiN-h/AvI2T S
. =1 : -10-8- E3:NONNES: )]
N BBEECEE TS i 3 i (11.518/.41) 11-10-8-5 | 40.8 | 78.3 | 5 (4_428) T\fa‘ﬁ‘/kﬁrs
R:Fe—=TTVI7 BV A4 UX HE R
NPRURS N LEHAR :58. ~10-10- . . SEHERA ()
50111 T ATIL 4 3 i 1(35/84)3 12-10-10-6 | 40.7 | 76.7 | 13 ;1_184) ;ﬁ/\§¥
LBALINT Ry IX BHVARTI 9y EE e
N . R :58. —3-2- . . EPEE (ER)
5 2| xT—Hn % 3 o 1(15/82>4 3-3-2-2 |41.7|76.5 | 15 (ﬁj) EEF‘;T?;
R:HYYRT1 52 B:hOEHILTT B 5
oW — F. 3+U7 : —9-5-. HFE (EH
gl vrorrz it 3 o 1.(518>.6 8-9-5-4 |41.6| 74.9 | 2 (4_620) ESN
:Aa-T>79U> B:TYRNETTHI 4L J=HrTrp—L
. _ HILFnE : -14-11- BRME (E#)
8l5li0] Tt—9>a35 i 3 il (11.5;.49) 14-14-11-11{ 40.9 | 72.1 | 7 (4_582) i
LTANWNGTFY— B:JIF=2—-X3IX 18R
L N: :00. ~15-16- . . BEFE (EH)
9 4 JJLA 4 3 s 2 (090) 4 15-15-16-15| 42.1 | 61.8 | 16 ;1_288) edis i
L:O—X¥x> 746 B:eRoo7s—N [Slie
S =i KEFIRTIR :00. —4-5— . . #EAE— (ER
10 6l3>Framn i 3 o 2(10/02>5 5-4-5-6 | 43.5| 62.9 | 6 (5_0; m%g;
R:7y3Is—L B:Y—I-29%H eSS
= 3 | BEEH 2:01.0 12-13-11-12| 43.0 | 58.6 2 | 424 | HAKERFI (i)
118[16| *ET1E o R @ B e e R
L/ TV B:T70vIbA FATLANIST
= 8 <@ B . —4-5— - i
12112 F1—x1x—Fz 2 [B] i 3 ﬁ%% (22.011/.24) 5-4-5-10 | 44.3 | 57.7 | 14 (ﬂé) g%é (=)
R:G4 7 hT—IEY BNCTLAY32X Py ¢
N N 3 | dtkERE 2:01.5 16-16-14-14| 43.3 | 55.5 | 9 510 | BN (KH)
13/5|9| S1vt> % 54.0 (3/4) (=) ) 5 - Al
L:hxex) B:IILIR-—L ERlzbie]
N - = PR :01. -10-11- . . HwEEE (ER)
14 1 Wihat 25 4 S5 4 3 i 2(10/12>6 9-10-11-12 | 43.6 | 55.3 | 11 (:?(2)) E;E%
Ry RYIYZRIR B:FA4xbUv T BH1E4%
i 3 | FR—M 2:03.0 3-6-14-16 | 44.9| 48.0 | 10 | 454 |HIIEZE (i)
15815/ NV F 21— b a5 @) (§) | @R su=Fa—¥5TLy KR
R:T7ROAFXLTEL B T )T o BEANAHSSE
343 4t 3 | WEEE 2:03.2 2226 |46.4| 49.4 | 3 | 476 |FEE (Ei)
16 5| < 54.0 (3/4) (-p) | EIFFEARE
:7A7% B:UIyIRTIVNL B
@ 71 L
) 54.1-41 .1
NA>Z4 L | 12.8-11.8-12.9-13.1-12.6-13.0-13.4-13.1-14.6
@ 11— S —EBlIEfL
13=3r= 3,5(7,15) (2,6,12)14(11,13)8(1,16)-10-4-9
20—+ — 3,5,7(2,6)15(13,12)14(11,1,8)16-10-4,9
Gol=5r= 3-(5,7,12) (2,6,14) (13,8)1-(11,16,10) (15,9)4
43—5+— |3(7,12)-14,8(5,6,13,1)-2,10(11,16)-9,4,15
[ N3
BB 12 360M 714K 3-12 500M e E 2-6 1,130M JEHE 3-12-13 9,890
8 B 12 1509 12-13 2,080 B = 3-12 1,220 B 12-3-13 32,280
3 190 3-13 2,150 | | B 12-3 2,110M
13 830F

ABICOVWTRDTEEERROODE. TR LIV,




